## **Transfers Report**

This report contains the transfers results.

Contest Name	Ward 3 Clackmannanshire Central
Valid Votes	2,402
Positions to be Filled	3
Quota	601

# Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Wendy HAMILTON	Scottish National Party (SNP)	730
John Robert HOSIE	Scottish Green Party	109
Carolynne Audrey HUNTER	Scottish Labour Party	320
Kate MASON	Scottish Conservative and Unionist	416
Jane MCTAGGART	Scottish National Party (SNP)	314
Janine RENNIE	Scottish Labour Party	288
Huw SHERRARD	Scottish Labour Party	225
	Total	2,402

Candidate Wendy HAMILTON Elected with 730 votes, being in excess of the quota of 601

## **Transfers Report**

This report contains the transfers results.

## Stage 2 - Surplus of Wendy HAMILTON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John Robert HOSIE	59	0.17671	10.42589
Transfer to Carolynne Audrey HUNTER	21	0.17671	3.71091
Transfer to Kate MASON	7	0.17671	1.23697
Transfer to Jane MCTAGGART	592	0.17671	104.61232
Transfer to Janine RENNIE	15	0.17671	2.65065
Transfer to Huw SHERRARD	9	0.17671	1.59039
No further preference	27	0.17671	4.77117
Not transferred due to rounding			0.00170
	Total		129.00000

## **Transfers Report**

This report contains the transfers results.

119.42589

# Stage 3 - Exclusion of John Robert HOSIE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Carolynne Audrey HUNTER	7	1.00000	7.00000
Transfer to Kate MASON	9	1.00000	9.00000
Transfer to Jane MCTAGGART	48	1.00000	48.00000
Transfer to Janine RENNIE	14	1.00000	14.00000
Transfer to Huw SHERRARD	7	1.00000	7.00000
Transfer to Carolynne Audrey HUNTER	10	0.17671	1.76710
Transfer to Kate MASON	1	0.17671	0.17671
Transfer to Jane MCTAGGART	33	0.17671	5.83143
Transfer to Janine RENNIE	3	0.17671	0.53013
No further preference	24	1.00000	24.00000
No further preference	12	0.17671	2.12052
Not transferred due to rounding			0.00000
	Total		119.42589

## **Transfers Report**

This report contains the transfers results.

233.59039

## Stage 4 - Exclusion of Huw SHERRARD

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Carolynne Audrey HUNTER	37	1.00000	37.00000
Transfer to Kate MASON	10	1.00000	10.00000
Transfer to Jane MCTAGGART	8	1.00000	8.00000
Transfer to Janine RENNIE	163	1.00000	163.00000
Transfer to Carolynne Audrey HUNTER	1	0.17671	0.17671
Transfer to Kate MASON	1	0.17671	0.17671
Transfer to Jane MCTAGGART	4	0.17671	0.70684
Transfer to Janine RENNIE	2	0.17671	0.35342
No further preference	14	1.00000	14.00000
No further preference	1	0.17671	0.17671
Not transferred due to rounding			0.00000
	Total		233.59039

## **Transfers Report**

This report contains the transfers results.

# Stage 5 - Exclusion of Carolynne Audrey HUNTER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Kate MASON	18	1.00000	18.00000
Transfer to Jane MCTAGGART	21	1.00000	21.00000
Transfer to Janine RENNIE	288	1.00000	288.00000
Transfer to Jane MCTAGGART	22	0.17671	3.88762
Transfer to Janine RENNIE	3	0.17671	0.53013
No further preference	37	1.00000	37.00000
No further preference	7	0.17671	1.23697
Not transferred due to rounding			0.00000
	Total		369.65472

## **Transfers Report**

This report contains the transfers results.

## Stage 6 - Surplus of Janine RENNIE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Kate MASON	105	0.20614	21.64470
Transfer to Jane MCTAGGART	61	0.20614	12.57454
Transfer to Kate MASON	1	0.03642	0.03642
Transfer to Jane MCTAGGART	11	0.03642	0.40062
No further preference	587	0.20614	121.00418
No further preference	11	0.03642	0.40062
Not transferred due to rounding			0.00325
	Total		156.06433

## **Transfers Report**

This report contains the transfers results.

## Stage 7 - Exclusion of Kate MASON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jane MCTAGGART	56	1.00000	56.00000
Transfer to Jane MCTAGGART	41	0.20614	8.45174
Transfer to Jane MCTAGGART	5	0.17671	0.88355
Transfer to Jane MCTAGGART	1	0.03642	0.03642
No further preference	397	1.00000	397.00000
No further preference	64	0.20614	13.19296
No further preference	4	0.17671	0.70684
Not transferred due to rounding			0.00000
	Total		476.27151